HIGH SCHOOL MATHEMATICS

TRIGONOMETRY 1

Matteman
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Son Can To4 hypotenuse
, |_ opposite
Sin(0) =10 cos(@)=pot  tan(®) = por 9 [
A B
adjacent

The equivalent ratios that you can the derive from the unit circle;

+* sin(6) = sin(180° — @) /Radian measures: 0 in radians \

+* sin(@) = sin(8 + 360°) +* sin(@) = sin(r — 0) 2::;(?;)?:( 04)

*—- cos (6) = cos (—8) isin(G) = sin(0 £ 2m) (x,y)
cos (8) = cos (—0) ol 0.0 2 0

*—- cos (8) = cos (360° —0) * cos (8) = cos (2 — 6) \/

% cos (6) = cos (6 £ 360°) % cos () = cos (0 + 2m) o

% tan (0) = tan (6 + 180°) \ — S

The x—y plane is divided into quadrants:

Identities = 270",

sin?(0) + cos?(0) = 1

YA

sin(0) Second First
tan (0) = quadrant | quadrant

cos (0) o

—180° +180 0 *+360° —-360°
Third Fourth
T quadrant | quadrant C
Boundaries
+270°

—1 <sin(@) <1 - 90°

—1<cos(A) <1



y =sin 0
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y=tan6
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~180=150=120°~40° -60° =39>°0)130° 60> op> 120° 1
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* Refer to transformation of graphs wherever needed.
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